
4iQ Group sp. zo.o.
ul. Przemysłowa 3, 14-200 Iława, Poland

+48 89 89 674 92 57
kontakt@4iQ.com.pl, www.4iQ.com.pl

PAWILON OGRODOWY 3X4 
INSTRUKCJA MONTAŻU

A

A

C

C

B

B

B

B

D

D

F

FF

F

G

G

G

G

M
N

A x 4

C x 2

B x 4

D x 4

F x 4

G x 4

M x 1

N x 1

P x 20

Q x 8

R x 8

S x 32

T x 12

V x 1

W x 1

X x 6

M6 x 25

M6 x 50

M6 x 10 

M6 nakrętka

O x 6

D

D

M6x50

M6x50

M6x25

M6 x 25

M6 x 10

M6 x 50

M6 x 25

M6x10

A

O

O

Z x 40

5mm klucz imbus. x 1 

10mm klucz płaski x 1

A

T

U x 6

główne zadaszenie
górny daszek

Ściana boczna

Hak do ściany bocznej


